ioroes | Tros | cuol | Taen | conton | Ml | Ionet | poostice | Terion | Ywln | Mk | motrce | oy | osscmanons
| .
w TEB 2-2-3 194 | 7(0,32) D-BF | 250 9,5 — - -9 ‘900 8.500 1,9 Analogue & 6E7
4 TET 228 | 197 | 7(0,32) | HED {250 7.5 s 100 3 300 |0,7MQ {13 |zokta
g TEZ 3-3 195 7(0,32) BF 250 2,3 — — -2 850 44.000 1,6 Loktal
I1GT 5V 111 | 7(0,48) HF 250 6 — 100 -2 250 0,8MQ | 4,5 |Anciennement 1282
1HT G| 7(0,32) HF 250 9 — 150 -2,5-19 200 1 MQ 3,5 | Culot Loctal
757 s7v | 174 | 7033 | ‘cC 2580 | 45 s 100 | -1,520] 250 |1,5MQ |0,31 |ztoktat ’
s | 100:) - 351 e 100 ; -1,5-20 300 [0,3MQ |0,26 -
- 1K1 2-2-3 196 7(0,32) D-BF 250 2,3 — — -2 900 - | 44.000 1,6 Loktal
ILI 5 173 7(0,32) HF 250 45 | — 100 -1,5 250 1 MOQ 3.1 | Lokta
- ' L HE oo b BEr 100 1 150, IV |3
a8 INZ 3-3 195 7(0,6) BF 250 9 —_ — -8 900 7.700 2,6 | Analogue a 6F8
101 TN 175 | 7(0,32) (& 280 3,4 — 100 | 0-35 0 0,8 MQ 0,45 | Analogue & G6SAT
@t IRI 2-2-5 197 7(0,32) HF-D 250 5,7 — 160 el 125 1 MQ 3,2 | Toktal
787 3-7 174 7(0,3_2) c 250 | 1,7 — 100 -2 500 | 2 MO — Loktal
o IT1 5 173 7(0,32) HF 250 | 10,8 — 150 -1 70 }0,8 MQ : 4,9 | Loktal
-« IV1 B 173 7(0,48) HF 300 |.9,6 — 150 -2 160 | 0,3 MQ 5,8 | Loktal
4 IWZ 5V 198 7(0,48) HF 300 10 —_ 150 -2,2 150 0,3 MQ 5,8 [ Loktal
Y4 5 85 |6,3(0,5) R 350 | 60 = = — et B — T e
A 1Z4 2-2 85 7(0,96) R 325 | 100 o —_ — — — —
10 3" 69 |7,8(1,28)| P(1.6) |425| 18 10.200 — -40 2.200 5.000 1,6
: P(0,4) | 250 | 10 13.000 —_ -23,5 2.350 6.000 1,3
P(28) 425 | 8 8.000 —_ -50 — — — | P.P. avec courant grille
P(13) 2580 8 4.000 — -28 2 — P.P. avee courant grille
11 3* 89 | 1,1(0,25) BF 135 3 — — -10,5 — 15.000 | 0,44 \
: BF 80| 2,5 — — -4.5 —_ 15.500 0,42




